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Note ;: Attempt all questions.

TE T F SAEawTHd ¢ |
Graph paper is required.

General Instruction :

(i)

S ¥ WAm = o 7T 2
Use of calculator is not permitted.

YA FE 1 0 T Wue ¥ @ (A) § Sgfascia v, Ovs
(a) T 3fad wery A aq ToS (W) H e Wl 1 g e
M0 ¥ | W& T W 3{F JEfE ¥

Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (3) Match the following and in Part (C) Fill

in the blanks are given. Each question carrics | mark.

(a’if)mmzﬂewafﬁgﬁﬂuwﬁlmmmzm

areifed ¥ |
Question Nos. 2 to 6 are very short answer Lype (uestions.

Bach question carrics 2 marks,

(iv) o I 7 W 10 T ARYITY ¥¥T € | Tolh W W 3 5F

arafea €1

Question Nos. 7 to 10 are very shorl answer type questions.

Fach question carries 3 marks.
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(v) W FHF 11 @ 14 7F AT T € | T FH H A

foFeT 3 | T W9 W 4 i AEfed B |

Question Nos. 11 to 14 are short answer type questions. Each

question has an internal choice. Each question carries 4 marks.

(v) WY hEIH 15 TH 16 TYIWG T4 ¢ | TdF T H i fasey

¥ U0 T W S 3 aafed €

Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.

(vii) W ShHIF 17 TF 18 SHI00a 797 § | 78 W1 T 3iafs fageg

® | W W W 6 39 ayEfa ¥

Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks.

wWA-1 (EUe-) W¥ fasew g fafa

(Part-A) Choose and write the correct option \

[ 1x5=5]

() 9% e fag A 99 W vt e rard @i = wavet 32
(3) & 3N Fad wF
() it &Faa
(&) o1 iR Faw =
(%) ¥ | * 7

How many tangents can be drawn on the circle from a point outside

the circle?  http://www.cgboardonline.com

(a)
(b)
(c)
(@)

One and only one

Two and only two
Three and only three

None of these
http://www.cgboardonline.com
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(i) T T 242 — dx + 3 = 0 H&l 1 OGS BT

3
(s -2
(@) -1
2
3
(T) 3
3
(%) ~a

The product of roots of quadratic equation 2x? — 4x + 3 = 0 will be :

@ -3

1
® -1
© 3
@ -3

(iii) FEUE P(x)=x*—3x~4 1 YLIH G :
(a1 1
(7) -2
(") 2
() -l

The zeroes of the polynomial P(x) = x2 =3x-4 will be :
(@) 1

(b) -2

(c) 2

(d) ~I
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() tan(90°- 45°) &1 7 B

() -% () 1
(3 f5 () 0

The value of tan(90°— 45°) will be :

(a) \—% b |
() 3 (d) 0

(v) W&y @ A sfeeaa geg e FA AR

() Mgy = genm (1+%J“’“‘
- < \\HY
() oA = faguq [HEJ
i _ THg \x
(T) ™A = qayA [l+ 100)

HHY

= 3 .______‘q(
() HauA ﬁmtn[n m )

The formula to find the maturity amount in fixed deposit is :

(a) ‘Tolal amount == Principal amount [l+%}%’)ﬁm
(b) Principal amount = Tolal amount (l s %]1‘ime
(c) Total amount = Principal amount (l+'l;i$°)ht
(¢/) Principal amount = Total amount [l+1;i(';:}" Rate
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WA-1 (Eve-w) 3w gy Sifeu
(Part-B) Match the following :
(A) (B)
() WA 5x+6y=7F W@ 5 e enit (@ 12

Slope of line in the straight line 5x + 6y
=7 will be

[1x5=5]

(i) A qIEY s & A #1 S
FTh1 W yemadi @ ot ¥ argura F g € (b) 4
The ratio of the arcas of two similar triangles

is to the ratio of their corresponding sides

(fif) 16 3T 8 =1 T=AC |1 B () 3

The arithmetic mean of 16 and 8 will be

(v) Todl g9 F1 SRl fawl ) dem O 2 (d) ==/equal
The number of space diagonals of the

cuboid is
(v) 3 0=60°%, d tan?0 %1 WA €M ) -2
If 0 = 60°, then the value of tan20 will be
-1 (@ue-u) fam wr w gl wifag [ 1x5=5]
(Part-C) Fill in the blanks :
(i) ofoTa qur AT Hem & waee w A Fgd ¥ |
The combination ol rational and irrational number is called
number.

(ii) 18 qE1 6 1 FarGII B |
The third proportional of 18 and 6 will be

(iti) afe fare farg & fdwrien (0, 5) &, 1 3% fag 38 W f@ gm)
If the co-ordinate ol any point is (0, 5), then this point will exist
on the axis.
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i ST,
(iv) Waﬁ%mﬂmﬁwmmﬁmwﬂm

Foond § |

o 1 e e reccived from all
The tax which is levied on a persons incom

sources is called

eI

oint on the

V) @Hﬁvﬁﬁxﬁ;ﬁsﬁﬁgmmmaﬁaﬁaaﬁw
Angle subtended by the diametcr of a circle at 2 p

circumference is

afg (x+3):27::1:3 A, 9 x T T T Hf | (2]
If (x+3):27 ::1:3, then find the value of x.

i aiterel A wiftaw I T : [2]
45, 41, 43, 38, 40, 42, 44

Find the median of the following data :
45, 41, 43, 38, 40, 42, 44

sin215° + sin275° &1 WM WA &Hifea | 2]

Find the value of sin215° + sin275° .

F @ fag (8, 5) a9l (10, 6) V OB TR ¥, A W @ H VAU W
Hiferg | (2]

A line passes through the points (8, 5) and (10, 6), then find the slope

of'the line. nhttp://www.cgboardonline.com

T GHIH &l B HifA : x2 - Ox = ()

Solve the quadratic equation : 2 —9x = ()

fog o & 61+ 13 O foram qutew §, <&l 1w ot 1)

Prove that 6a + 13 is an odd integer, wh is an i
s e > A gy
http://www.cgboardon Tne.cem |qngcr.
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w-8 Ak (x-1), TR P(x) = 2 + kx + 2 1 TEG@UE T, @k w oA A
Edisud
Find the value of & if (x—1) is a factor of the polynomial
Px)=x>+kc+2

WEA-9 T FEH 42— x4 1 =0 ¥ @ v 7w Fifer
Find the nature of roots of the quadratic equation 4x2 —x + | = 0.

UT-10 10 WA A 1ot STEMA F1 WY TS F A6 7 Fferw

Find the tolal surfacc arca of a hemisphere of diameter 10 cm.

WA-11 fag e fF af fl B A T 1 % T s A st ) e
fir fargell WOH=0% FTehl & 0o v Wi <o, 7 Yo 39 2 sy 2y
T g arqura ¥ fawifora et 1

Prove that if we draw a line which is parallel to any one side of a triangle

and intersects the other two sides at different points, then this line divides
these two sides in the same ratio.

Hqr /OR

aﬁPABﬁﬁ@wmﬁ,aﬁ@aﬂAai‘fwmuﬁx%am%aﬂwrw
el Yarave 9, @ fag Fifse s 24~ 2B = PT2)

If PAB is a sccanl 1o a circle which intersects the cirele at A and B, and PT

is a tangent 1o the circle, then prove that P4 x PB = PT2.

WH-12 x 9 y ¥ T =Y 9E R afE fag (v ), el (7, 1) sl s, 5) @
GG 7 |
Find the relation between x and y such that point (x, y) is cquidistant from
the points (7, 1) and (3, 5).

3rerar / OR

x % fafv= Al & AT x2 1 9F 910 FF x 3 2 F 7R 6 4" @ e
Gifag | x mlﬁ%p@/tvé‘w .cg%ﬁ*ine.com

[3]

(3]

(3]

4
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and draw a graph between x

tween —4 and +4.

Find the value of x2 for different values of x

i e
and x2. The values of x are integer numbers b

W13 T A0 AR W 3 g1e-a8 I (FerenflAY) 3 T % SRS feg M
2134 Sl F1 TG Fa FITC ¢ [4]
= fen & 30-40 | 40-50 | 50-60 | 60-70 | 70-80
foenfiiat =t gEn 1 29 6 3 1

Data of weight of young and old groups of children (students) of a senior
secondary school is given below. Find the mean of the data :

Weight in kg 30-40 | 40-50 50-60 60-70 | 70-80
Number of students 11 29 6 3 ]
T
OR

- it SrRISra e il 3 g & el g v e e o )
e & siies aifea # fag Tu 1 3 st 1 ages wa st

ICCTARC Ak e 0-50 { 50-100 | 100-150 | 150-200 | 200-250 | 250-300
A & Hear 4 5 16 12 3 2

Wickets taken by many bowlers in international one-day cricket matches

are given in the table, Find the mode of the data :

| Nos. of Wickets | 0-50 | 50-100 1 100-150 150-200 | 200-250
Nos. of Bowlers 4 S 16 12

250-300
3 2

WeA-14 14 ¥, S9E 91 90 % TS H 8wl 88 T 1 9T = SR
J1d Fifera |
Area of curved surface of cylinder, whose height is 14 cm,
cm. Find the volume of the cylinder.

[4]

is 88 square

e
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e Foell iz & THy= W Awa 770 Tl A ¥ 9w TWET ST T =A™

14 9. |, 79 39 vy 1 S 96 Wit

If the curved surface area of a cone is 77x squarc cm and diameter of its

base is 14 cm, then find the height of the cone.

AABC & Uitga #Y W91 FMAY, 61 A8 = 8 ¥, BC = 5 1. 3w LABC
= 60° % | T91 % U< Y fafaw)

Construct a circumcircle of AABC, where 4B = § cm, BC = 5 cm and

ZABC = 60° Wrile the steps of construction.

TF APQR I T Fifrg, ford OR = 6 30, PO = 52, AR LPOR = 60°

3Terqr

OR

BN A TF R A4BC ﬁmmﬁaﬁ/ﬂsim B
5 ey

Construct a APQOR in which OR = 6 cm, PO =5 cm and ZPQR = 60°
! :
Also construct a A4BC in which 4B = 35'- PQ

w-16  faxilg a4 2013-2014 ¥ v WEEN™ HHER Y F M 3 4,10,000 7. ot
IEA 24,000 %. Sfie =i wiferdt @1 aiffe iy § 4,000 ¥. Sfew e WM

ﬂﬁmﬁﬁlﬁqﬁzs,oooamn@umwwﬁaﬁﬁmm%mﬁw

94l W g2 1 Ay i O @ € ¥, @ 2 s s o St

AFHT 1 X Fgan €
@. HY QI 3T W1 T
1. [2,00,000% a& CHEA C T &
2. 12,00,00]1 € 8 5,00,000%. T 10%
3. [5,00,001% 9 10,00,000 7. &7 20%

T aTfifiad, < et %1 3% faen Sy a2 )
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ec in financial ycar 2013-2014 was
ly premium on lifc insurance
dent Fund and she also

If a maximum

The income of a government employ
Rs. 4,10,000. She deposited Rs. 24,000 asycar .
policy, Rs. 4,000 every month in General Provi
purchased a national savings certificate worth Rs. 25,000. |
of Rs. one lakh can be invested in any type of saving to qualify for tax

rebate, then calculate the payable tax. http://www.cgboardonline.com

The rates of tax are as follows :

S. No. Tax Limits Rate of Tax
1. |UptoRs. 2,00,000 NIL
. |Rs. 2,00,001 to Rs. 5,00,000 10%
3. Rs. 5.00.001 to Rs. 10,00,000 20%

In fdition, a 3% cducation cess has to be paid over the income tax.

3erqr
OR

y

I/,‘ﬁﬁﬁﬁmm%ﬁwoa famie &1 10 Tl & forg e s @

mlﬁmvﬁmﬁﬁmﬁﬁa&mwaﬁuﬁs,ozsamﬁ
Sl ®, & == ) & R v wfde B

’ H 3 LT el 1 1 ) \ H
Padmani opened a recurring deposit account in district cooperative bank

for 10 years and her monthly installment is Rs. 100, [fon maturity she gets

Rs. 3,025 as interest, then what is the rate of interest per annum?

WA-17  Frrfad we ea wifmg ;. 080 cosO

cosecO0+1 cosecO-1

Solve the trigonometric equation : — 089 cosd
cosecO+1 cosecH-1

Hqr
http://www.c@ardonline.com
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TF Y Qe uw wod & UK 9% 9 ¥ ) e % e WA T e T
R BT 30° % STaHT RN T WA ¥ | FR 7 ¥ I F 2R wHEmE At F
Sl ® 1 30 . = ¥ g R T 0 60° T M L, A v R S
EIGEC AL 14

A straight road goes straight up till the base of the building. A man on
the top of the building sees a car at 30° angle of depression. The car is
moving towards the building at a uniform speed. After the car has covered
a distance of 30 meters, the angle of depression becomes 60°. Then find

the height of the building.

afz a b, ¢ e TR At F HE: p, g3 IR A =, d fag S

a(g—r)+ blr-p)rep-9)= 0

If pm q:h and " terms of an arithmetic progression are a, b, c respectively,

then prove that

http://www.cgboardonline.com
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